My rules of trading with the indicator:

* Time frame M15/M30/H1 (This condition only if you have the full version)
* Make every trade same risk 1-2% of your account

* The Stop loss is not fixed, it depend on the high / low of the candle

if the signal is buy signal

SL: Below the low of the candle

TP: Atleast 3 times the SL.

if the signal is sell signal

SL: Above the high of the candle

TP: Atleast 3 times the SL.

* If the trade reach profit pips = stop loss, then you have to move the stop loss to the entering point.

* After spending a lot of time on the most known 28 currency pair with the Arrow Trend Surfer Indicator, here is the result of the best pairs and its time frame from
M15 & M30 & H1 (This condition only if you have the full version)

from the top its the best

Best currency pairs with Arrow Trend Surfer Indicator

M30 H1
1- GBPAUD 1- EURAUD
2- EURGBP 2- EURGBP
3- NZDCAD 3- GBPAUD
4- EURNZD 4- AUDUSD
5- GBPCHF 5- AUDCHF
6- AUDJPY 6- AUDJPY
7- GBPUSD 7- EURNZD
8- CHFIPY 8- CADCHF
9- EURIPY 9- GBPNZD
10- GBPNZD 10- EURUSD
11- AUDUSD
12- CADJPY
13- CADCHF
14- EURCAD
15- NZDCHF

" Don't enter the trade if the size of the candle that have the signals are very larg because the SL will be very big.

" Some times u will see same arrow signals in the same area of candles, that doesn't mean u have to enter many same trades, No, just one trade is enough in the
same pair opened.
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lets assume you had enter every signal that will appear with all my rules with fixed risk of your account 1-2% for every trade

* and you enter 3-4 bad signal
* and you enter 2 good signal { | assume the minimum good signals of & signals)

the total =you will be in profit. because you have set every trade its TP = 3 times the stop loss. and the 2 goed signal = at least 6 bad signal.
50 in total every weak / month you will have +§

and of course the most signal is good signals but i have assumed the worst case scenario with minimum good signal above to try to explain even in worst condition
in market you will be in profit.



